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Memory to solve an instance
(UNSAT answers, category N-ARY-INT)
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Abscon 112v4 AC —+—
Abscon 112v4 ESAC <
bpsolver 2008-06-27 ---*---
casper zao o
casper zito
choco2_impwdeg 2008-06-26 ---©---
Concrete + CPS4J 2008-05-30 -
Concrete + CSP4J - Tabu Engine 2008-05-30 -
Concrete + CSP4J - WMC Engine 2008-05-30
cpHydrak_10 v~
cpHydrak 40 ---v---
MDG-noprobe 2008-06-27 <
MDG-probe 2008-06-27
Mistral-option 1.314 —<—
Mistral-prime 1.313 -+
SAT4J CSP 2008-06-13 ---©---
Sugar v1.13+minisat e
Sugar v1.13+picosat




